Working Backwards Task – Faraday’s Law

The picture shows a top view of four wires and a galvanometer in the lab.  Current flowing into the + terminal, i.e., counterclockwise, will deflect the meter to the right and current flowing in the opposite direction will deflect the meter to the left.   During the time interval t=2 s to t=8 s a magnet is slowly pushed completely through the rectangle from the bottom toward the top, resulting in the indicated deflection of the galvanometer.
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Which pole of the magnet, N or S, was put through the loop first?

Carefully explain your reasoning.

